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Sentence Connectors Questions for SBI PO Pre, IBPS PO Pre, SBI
Clerk Mains, IBPS Clerk Mains and LIC AAO Pre Exams.

Sentence Connectors Quiz 39

Directions: In the following questions two columns are given containing three
Sentences/phrases each. In first column, sentences/phrases are A, B and C and in the second
column the sentences/phrases are D, E and F. A sentence/phrase from the first column may
or may not connect with another sentence/phrase from the second column to make a
grammatically and contextually correct sentence. Each question has five options, four of
which display the sequence(s) in which the sentences/phrases can be joined to form a
grammatically and contextually correct sentence. If none of the options given forms a
correct sentence after combination, mark option (E), i.e. “None of these” as your answer.

1.
Column (1) Column (2)
(A) [The RBI could have addressed, |(D) [to think over the sources from which it
these concerns can bridge the liquidity gap.
(B) [The RBI circular had adversely, |(E) when banks and borrowers from these
impacted sectors bought these issues to its notice.
(C) [This would provide time for| |(F) [resolution plans which  were under|
bankers process between lenders and debtors.
A. A-E, B-F B. C-D, B-E C.C-E D. B-F E. None of the above
2.
Column (1) Column (2)
(A)[The Government of India has| |[D)who decriminalizes suicide and empowers
recently passed an act individuals with mental illness.
(B)Voluntary organizations arel |(E)lour ears to the emotions of our family
training community workers members and neighbours.
(C)Each of us is lending a hand,| |(F)with the requisite skills required to take
when we lend care of the mentally ill.

A. A-E, B-D B. C-E, B-F C.A-D D. B-F E. None of the above




Column (1) Column (2)
(A) [There are several multiplexes in| (D) [doesn’t want to share the revenue with
Chhattisgarh the producers.
(B) [The video companies are| |(E) but they don’t give any priority to local
making money but they films.
(C) [It took time for them to realise| |(F) home video rights, satellite rights,
that digital rights are different things.
A. A-E, B-D B. C-E, B-F C. A-E, C-F D. B-F E. None of the above
4.
Column (1) Column (2)
(A)|Last year we performed in Fiji and ||((D) flavour which people loves.
(B)|Our music has a distinctive (E) lused by our band is Banjo.
(C)[The most modern instrument (F) [almost each one loved the show.
A. A-E, B-D B. C-E, B-F C. A-E, C-F D. C-E E. None of the above
5.
Column (1) Column (2)
(A) |Pakistan could be blacklisted (D) by the FATF due to lobbying by India.
(B) The FATF is working to curb] |(E) [if Pakistan is pushed into the FATF
terrorism blacklist.
(C) [The Foreign office is calculating loss| |(F) ffinancing and money laundering.
A. A-E, B-D B. C-E, B-F C. A-E, C-F D. C-E E. None of the above
6.
Column (1) Column (2)
(A) |Global Warming can do more than| (D) Shops and restaurants of airplane
just melt polar ice and change passengers to use.
(B) [The Earth's temperature willl |(E) so long as mankind continues to
continue to rise produce greenhouse gases.
(C) Most international airports have (F) \weather patterns throughout the
world.
A. A-F, C-D B. A-E, B-F C. A-F, B-E D. A-F, B-E, C-D E. None of these
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Column (1) Column (2)

(A)

The First World War unlike the second,| |(D) new, eager men and plentiful supplies.
can be argued as being orchestrated
by not a single party or regime

(B)

The goal of the United Nations is (E) [to improve living conditions for people
all over the world.

(C)

The United States entry into the war| [(F) but through a complicated series of
brought millions of fresh, events which played part in tipping the
fragile balance of European powers.

A.B-D B. A-F, B-E, C-D C.B-F,C-D D. A-E E. None of these
8.
Column (1) Column (2)
(A)UNICEF's Supply Division is based| (D) |not flat like most birds.

in Copenhagen and

(B)

A Black Hole is a great amount of | [(E) matter packed into a very small area.

(C)Hummingbirds fly with their (F) lserves as the primary point of distribution
bodies held upright, for essential healthcare items.
A. A-F B. B-E C.C-D, B-E D. A-F, B-E, C-D E. None of these
9.
Column (1) Column (2)

(A) [The tortuous talks on Brexit, which| |(D) and marketing departments of the future
are now entering a critical stage, cost of supplies in order to assist them in

their forecasting.

(B) [Industrial purchasing may be| |(E) contain uncanny echoes of the events of a
defined as the decision-making century ago that reshaped the continent
process by of Europe.

(C) |Coordinate with engineering when| |(F) \which formal organizations establish the
developing specifications or advise need for purchased products and services.
the sales and marketing.

A.C-D B. A-D, B-F C.C-F, A-D D. B-F E. None of the above
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10.

Column (1) Column (2)
(A)The Alaknanda is a Himalayan river in the| |(D)and one of the two headstreams of the
Indian state of Uttarakhand Ganga.

(B)|Goa is India's smallest state by area and the | |(E)important religions — Buddhism and
Jainism to the world.
the fourth smallest by population.

~—

(C)Bihar is the remarkable state that gave two | |(F

A.C-D B. C-E, A-D C. A-D, B-F D. A-E E. None of the above

Correct Answers:

1 2 3 4 5 6 7 8 9 10
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Explanations:

1.

A-E: The RBI could have addressed these concerns when banks and borrowers from these sectors
bought these issues to its notice.

Use of verb “bought” creates an error in the sentence. “bought” is the past participle of verb “buy” is
clearly a misfit here. The correct verb to be used is “brought”, which is the past participle of “bring”.

Correct sentence: The RBI could have addressed these concerns when banks and borrowers from these
sectors brought these issues to its notice.

C-D: This would provide time for bankers to think over the sources from which it can bridge the
liquidity gap.

This sentence seems to be contextually correct but on the grammar hand it has a problem with respect
to the use of pronoun. Here “Bankers” (noun) is plural, so it will be replaced with the plural pronoun
“they” instead of “it”.

Correct sentence: This would provide time for bankers to think over the sources from which they can
bridge the liquidity gap.

B- F: The RBI circular had adversely impacted resolution plans which were under process between
lenders and debtors.

This make a grammatically as well as contextually correct sentence.

Hence option D is correct.

A-D: The Government of India has recently passed an act who decriminalizes suicide and empowers
individuals with mental illness.

Here use of “who” is incorrect as it is referred to Act. ‘Who’ is used for living persons.

Correct sentence: The Government of India has recently passed an act which decriminalizes suicide
and empowers individuals with mental illness.

B-F: Voluntary organizations are training community workers with the requisite skills required to take
care of the mentally ill.

Some of us may confuse and match B-D, but its incorrect as community workers don’t possess the
authority to decriminalize or criminalize an issue.

So, the correct combination is B-F.

C-E: Each of us is lending a hand, when we lend our ears to the emotions of our family members and
neighbors.

C-E is grammatically as well as contextually correct.

Hence option B is correct.




A-E: There are several multiplexes in Chhattisgarh but they don’t give any priority to local films.
A-E forms a grammatically as well contextually correct sentence.

B-D: The video companies are making money but they doesn’t want to share the revenue with the
producers.

B-D make a contextually correct sentence but grammatically they don’t follow the subject-verb
agreement. Video companies are plural, thus helping verb should also be plural (don’t instead of

doesn’t).

Correct Sentence: The video companies are making money but they don’t want to share the revenue
with the producers.

C-F: It took time for them to realise that home video rights, satellite rights, digital rights are different
things.

C-F forms a grammatically as well contextually correct sentence.

Hence option Cis correct.

A-F: Last year we performed in Fiji and almost each one loved the show.

Each is not used with almost as per grammar rules. Thus it should be replaced with every in order to
make a grammatically correct sentence as well.

Correct sentence: Last year we performed in Fiji and almost everyone loved the show.
B- D: Our music has a distinctive flavour which people loves.

People is singular, thus loves needs to be “love” to make it grammatically correct.
Correct sentence: Our music has a distinctive flavour which people love.

C-E: The most modern instrument used by our band is Banjo.

C-E is grammatically as well as contextually correct.

Hence option D is correct.




A-D: Pakistan could be blacklisted by the FATF due to lobbying by India.

A-D forms a grammatically and contextually correct sentence.

B-F: The FATF is working to curb terrorism financing and money laundering.

B-F also forms a grammatically and contextually correct sentence.

C-E: The Foreign office is calculating loss if Pakistan is pushed into the FATF blacklist.
C-E also forms a grammatically and contextually correct sentence.

Hence option E is correct.

Let’s use elimination technique to cancel the choices that are absurd or irrelevant.
A-F:

Global Warming can do more than just melt polar ice and change weather patterns throughout the
world.

This is reasonably and grammatically correct sentence.
A-E:

Global Warming can do more than just melt polar ice and change so long as mankind continues to
produce greenhouse gases.

The sentence after combining the fragments doesn’t make sense and is hence incorrect.
B-E:

The Earth's temperature will continue to rise so long as mankind continues to produce greenhouse
gases.

This complete sentence is evidently correct, both grammatically and contextually.

C-D:

Most international airports have Shops and restaurants of airplane passengers to use.

Usage of ‘of ‘instead of ‘for’ makes it erroneous and hence option A and E can be eliminated as well.

Clearly, option C is correct answer.




Let’s use elimination technique to cancel the choices that are absurd or irrelevant.

A-F:

The First World War unlike the second, can be argued as being orchestrated by not a single party or
regime but through a complicated series of events which played part in tipping the fragile balance of
European powers.

The sentence above is evidently correct both grammatically and contextually.

B-D:
The goal of the United Nations is new, eager men and plentiful supplies.

The sentence after combining the fragments does not make sense and is hence incorrect.

B-E:
The goal of the United Nations is to improve living conditions for people all over the world.

The sentence after combining the fragments does make sense and is hence correct.

B-F:

The goal of the United Nations is but through a complicated series of events which played part in
tipping the fragile balance of European powers.

The sentence after combining the fragments does not make sense and is hence incorrect. .

C-D:
The United States entry into the war brought millions of fresh, new, eager men and plentiful supplies

This sentence too is correct both grammatically and contextually.

Hence, Clearly Option B is correct option.

A-F:
UNICEF's Supply Division is based in Copenhagen and serves as the primary point of distribution for
such essential healthcare items.

The sentence after combining the fragments does make sense and is hence correct.

B-E:
A Black Hole is a great amount of matter packed into a very small area.

The sentence after combining the fragments does make sense and is hence incorrect.

C-D:
Hummingbirds fly with their bodies held upright, not flat like most birds.

The sentence after combining the fragments does make sense and is hence correct.
Clearly, option D is correct answer.




10.

Let’s use elimination technique to cancel the choices that are absurd or irrelevant.

C-D:

Coordinate with engineering when developing specifications or advise the sales and marketing
departments and marketing departments of the future cost of supplies in order to assist them in their
forecasting.

The sentence above after combining the fragments doesn’t make any sense. It is absurd and hence is
grammatically incorrect as well. This eliminates option A.

A-D:
The tortuous talks on Brexit, which are now entering a critical stage, and marketing departments of the

future cost of supplies in order to assist them in their forecasting.

The sentence above after combining the fragments doesn’t make any sense.Hence,it is able to
eliminate.

B-F:
Industrial purchasing may be defined as the decision-making process by which formal organizations

establish the need for purchased products and services.

This complete sentence is evidently correct, both grammatically and contextually.
Hence, it makes only option D is correct option.

Let’s use elimination technique to cancel the choices that are absurd or irrelevant.
C-D: Bihar is the remarkable state that gave two and one of the two headstreams of the Ganga.
The sentence above after combining the fragments doesn’t make any sense.

C-E: Bihar is the remarkable state that gave two important religions — Buddhism and Jainism to the
world.

The sentence after combining the fragments does make sense and is hence correct.

A-D: The Alaknanda is a Himalayan river in the Indian state of Uttarakhand and one of the two
headstreams of the Ganga.

The sentence after combining the fragments does make sense and is hence correct.

A-F: The Alaknanda is a Himalayan river in the Indian state of Uttarakhand the fourth smallest by
population.

The sentence above after combining the fragments doesn’t make any sense.

B-F: Goa is India's smallest state by area and the the fourth smallest by population.

The sentence after combining the fragments does not make sense as there are two the's present in the
sentence and is hence incorrect.

Clearly, option E is correct answer.
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